11) Show that for a gas that obeys Dietereci’s equation
8 (Vo —B) expla/RTV,,) = AT

the coefficient of thermal expansion o iz given by the expression

_ AV + (a/T)
= Vi expla/VRT) —a

o



12) Derive an exprezsion for the ratio xp /% of the izothermal compreasibility #p of 2
gas relative to the isothermal compresaibility #5 of an idesl gag (at the zame tempers-
ture T and molar volume V},.). Approximate the virial expansion for the compression

factor of the real gas by truncating it sfter the third virial term? [{1+ 2(5/V,.) +
30V
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